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001 b2 TR 22 B 070300 14,2 4= H il SR AL 3
001 1h2F TRE ARt 081700 1k.22 TFE 5 H A 4 Hil SEAREANL 3
001 1425 TR 2B 085600 #1k} 546 T 4 H il LA 3
001 145 TFE 2B 085600 #1 K} 546 T JE4= H il LA 3
002 HUAR T FE 24P 080200 ML L2 4 H il FAREAL 3
002 HUB T RE 24P 080700 =) 77 T2 Jv TREHA#E 4 H il RN 3
002 HUAR T FE 24P 085500 AL 4 H il LA 3
002 LA LRE 2B 085800 AEVE B 71 ENEED kAT 3
002 AL TFE 2P 085800 fEE 5N 11 k4= H ) kAL 3
002 HL TR 24 B 125603 Tl T.F 555 4 Hil kAL 3
002 AL T FE 2B 125603 Tk T.F 54 7 A4 H il kAL 3
003 {5 5 TFE AR 081000 15 B 5l {5 L& 4= Hil FEARFEAL 3
003 15 5 TR AP 081100 =R S TR 4= H il SR AL 3
003 15 B TR 24 085400 HL 115 5 4 Hil kAL 3
004 & H 2Bt 120100 & # Rl 2 5 T 4 H il FAREAL 3
004 & H 2Bt 120200 T/ & HE 4 H il FARFEAL 3
004 & H 25t 125300 =it A Hil LA 2.5
004 & H 2Bt 125300 =it 4 HHl LA 2.5
004 & H 2Bt 125604 Wi L1255 2 4 H il LA 2.5
004 & H 25t 125604 Wi L1254 2 4 H il LA 2.5
005 =9 TRE AP 071005 A% 4 Hil SEAREANL 3
005 A=W TR 22 B 071010 A=Wies: 50 FEWE 4= H il SR AL 3
005 A=) TFE 2B 081703 A4k L 4 Hil FEARFEAL 3
005 A=) TFE 2B 083600 4= 7% 4 Hil FEARFEAL 3
005 A=) TR 2B 086000 AW 5L 24 4 Hil kAL 3
006 K TFE 2R 081400 + A T F% 4 Hil FEARFEAL 3
006 K T.F2 2R 085900 A 7K F] 4 H il LA 3
007 Zj2~ Pt 086000 491 5= 2 A Hil RS 3
007 Zj2~ Bt 100700 25~ A Hil FARZEAL 3




007 255 Bi 105500 % 4 [ A 3

007 Z5%:Bi 105500 % A4 H il L A A 3

007 25~ Bi 105600 12 4 H A 3

008 THENLEFE S HAR R CRIEED 081200 tH5HLE 2 5 A ENEED SEREAL 3
008 THENLEFE S HAR R CRIEED 083500 31 T2 4 H il FAREAL 3
008 THHEANLEIE S HF AR CRAFZBD) 085400 HL 115 5 4 Hil kAL 3
009 FH2E 5 070100 % 4= Hil SEAREANL 3

009 FE24R 070200 Y3 2 4= H il SR AL 3

009 H 2~ 080300 Y%~ LF% 4 Hil FEARFEAL 3

009 FH2E 5 085400 HL 115 5 4= Hil kAL 3

010 A SC2APE 045300 PG FE IR E 4= H il kAL 2.5

010 N\ 3C%4B5 050100 1 [E1E 5 S0 A Hil FARZEAL 3

010 N\ LBt 050300 I [F 1L 172 A Hil AR EEANL 3

010 N\ LB 055200 [ 515 1% 4 H il LA 2.5
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011 AILE 120400 2~ 3L B 4 H il FARFEAL 3

011 AFLE M 125200 3L B JE4= H il LA 2.5

012 ZERZ S5HARZER R HAREE 6 040100 (7 4 Hil SEAREANL 3
012 ZERZ S5HEHARZER R HAREE ) 040100 Z(F 4= Hil SEAREANL 3
012 #ERZ S5HARZER R HAREE 26 045101 #(H & A4 H il kAL 3
012 ZERZ S5HARZER R HAREE 26 045114 RABEHA A4 H il kAL 3
012 #ERZ S5HARZER R HAREE 26 045120 BNV AR H A4 H il i A2 2 3
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015 it 5P 081300 3 A Hil FARFEAL 3

015 Wit 5Pt 083300 3, £ Mk % 4 Hil SEAREANL 3
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017 K = fA Sk il 25 B [F 8 0 100700 252 A Hil FAREAL 3
017 K = fA Skt 25 B [F )8 0 105500 252 A Hil LA 3
018 MEFIZ 5 TR B 080500 #1 k1Bl 5 THE 4 H il FAREAL 3
018 MEFIZ 5 THEZFB 085600 #1k} 546 T 4 H il LA 3
019 &A% 5 TS 083200 & i Bl2e 5 T 4 H il FAREAL 3
019 A5 TIESBR 086000 A4 524 4= H il kAL 3
019 Bl 5 TIEBR 095135 &l L5 %4 4= H il kAL 3
019 Bl 5 TIESBR 095135 &N L5 %4 4= H il LA 3
020 A E 15 2B 050200 71 E i 5 502 4= H il SR AL 3
023 w8 3 X 2R 010108 Fl2AHiAR T 2% 4= H il SR AL 3
023 g B 2R 030500 5 3 L FE 4= H il SEAREANL 3
024 P83 24Pt 083000 MIERIEE THE 4= H il FARZEAL 3
024 A3 22t 085700 % 53115 4= H il Ll 2L 3
025 285 B 020200 W FH &5 A Hil FARFEAL 2.5
025 5724t 025100 4Fl A Hil LA 2.5
025 5724t 025100 4:Fil 4 H il LA 2.5
025 25525 025400 [ F5 55 4= H Ll 2= 2.5
025 £k 22t 025400 [l b5 %5 4 Hiil R A= 2.5
099MBA #(H 1. 125100 75 & 34 44 H il R A= 2.5
099MBA #( & 0 125601 TFEE FE A4 H il kAL 2.5




